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1LWUDWHG
DPPRQLDTXH 1LWUDWH�G
DPPRQLXP 1+�12� 1+����12�� �� FULVWDX[ 1RQ�XWLOLVp�VHXO�$�OD�EDVH�GH�OD�IDEULFDWLRQ�G
DPPRQLWUDWH�

$PPRQLWUDWH 1LWUDWH�G
DPPRQLXP 1+�12� 1+����12�� )DLEOH�GRVDJH�����0R\HQ�GRVDJH�������+DXW�GRVDJH������j����� JUDQXOpV
/H�QLWUDWH�G
DPPRQLXP�HVW�IL[p�VXU�XQVXSSRUW�GH�FDUERQDWH�GH�FDOFLXP�&D&2��$FWLRQ�UDSLGH�GH�OHXU�PRLWLp�QLWUDWH�12���$FWLRQ�SURORQJpH�HW�UpJXOLqUH�GH�OHXUSDUWLH�DPPRQLXP�1+���

6XOIDWH�G
DPPRQLDF 6XOIDWH�G
DPPRQLXP �1+���62� 1+����62��� �� FULVWDX[ $SSRUWH������GH�62� ��FRQYLHQW�DX�FRO]D�SRPPHV�GH�WHUUH�$FLGLILH�OHV�VRO�
1LWUDWH�GH�FKDX[ 1LWUDWH�GH�FDOFLXP &D�12��� &D����12�� �� JUDQXOpV &RQWLHQW������&D26H�FRQVHUYH�PDO��KXPLGLWp���FRQYLHQW�DX[DSSRUWV�WDUGLIV�HQ�SpULRGH�HW�VROV�VHFV

&\DQDPLGH�FDOFLTXH &\DQDPLGH�GHFDOFLXP &D&1� $SUqV�K\GURO\VH&2�����1+��&D�� ���� SRXGUH�RXJUDQXOpVRX�SHUOHV
$SSRUWH����j�����&D2(QJUDLV�GpVLQIHFWDQW�FRQWUH�OHV�SDUDVLWHVGLJHVWLIV�HW�SXOPRQDLUHV�HW�FHUWDLQHVODUYHV�GX�VRO��YHUV�EODQFV��WDXSLQV�

8UpH�RX�SHUOXUpH XUpH &2�1+��� $SUqV�K\GURO\VH&2�����1+�� �� SHUOHV 7UqV�VROXEOH��QRQ�UHWHQXH�SDU�OH�&�$�+��(QIRXLVVHPHQW�DSUqV�pSDQGDJH�FRQVHLOOp�
1LWUDWH�GH�FKDX[�HWGH�PDJQpVLH 1LWUDWH�GH�FDOFLXP�HWQLWUDWH�GH�PDJQpVLXP &D�12��� �0J�12��� &D����12��HW�0J�� �� JUDQXOpV &RQWLHQW������0J2

$PPRQLDF�DQK\GUH $PPRQLDF�DQK\GUH 1+� $SUqV�K\GURO\VH1+�� �� OLTXLGH 1H�V
HPSORLH�TX
HQ�LQMHFWLRQ�GDQV�OH�VRO�(QJUDLV�GH�IRQG�
1LWUDWH�GH�VRXGH 1LWUDWH�GH�VRGLXP 1D12� 1D���12�� ���� JUDQXOpV &RQWLHQW�����1D��&RQYLHQW�j�OD�EHWWHUDYHFDU�FRQWLHQW�pJDOHPHQW�%R�5LVTXH�GH�GLVSHUVLRQ�GH�O
DUJLOH�
6ROXWLRQV�D]RWpHV�D]RWH�OLTXLGH� 6ROXWLRQV�D]RWpHV 1+����12��&2�1+��� $SUqV�K\GURO\VH1+����12��&2���

FRQFHQWUpHV�����DX[����/���DX[����/
OLTXLGH )DLEOH�SURSRUWLRQ�G
LRQV�12���6ROXWLRQV�SRXYDQW�FRQWHQLU�O
pOpPHQWVRXIUH������j�����GH�6�DX[����/�


